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Sin(Ot+B)=Sinoc-cos[3+C050c-sinB, sin2a =sino.-CoSa +Cosa.-Sino. = 2sinacos a,
cos(cu+B) = cosa-cosB—sina.-sinp COS 201 = COS o - COS oL —SiN o - Sin o = €0s” o, —Sin” a,
tga +tga 2tga,

tga +t = tg2o= = ,
tg(oc+[3)= Ja gB, : 1-tgo-tga  1-tg°

1-tgo-tgf

ctga-ctgpf—1 ctha:Ctga'Ctga_l:Ctgza_l.
Ctg(oc+[3): ga.-Ctgh Ctga +ctga 2ctgo

ctgo +ctg
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_ _ 2sinocoso 2tgo
SIin 2o, = 2SIN 0. COS oL = T

sin® o +Ccos? o cosa=0 tg2or +1
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2sinocosa' ™ ® 2ctgo

Sin2a = 2sinaCos o = —— > = 2
Sin“ a4+ Co0s” a sina=0 ctg o +1
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€oS 20 = COS” ot sinZ(x_cosZoc—smzoc\'C"” _ 1-tg°a

sina,+cos® o cosa=0 tg2or+1
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COS 20 = COS® o sinzoc—cosza_smza\.sma _ Gere

sin® o +c0s” o sino#0 1+ ctga
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sin 3o = sin (20t + ) = Sin 20. €S 0t + €OS 201SiN o = 25iN 0. cos? oc+(1—23in2 a)sina =

=2sin oc(l—sin2 oc)+sina—25in3 o =2sino—2sin o +sina —2sin® o = 3sina,—4sin® o

cos3o = cos(2a+a) = C0S20.CoSa—Sin2aSina = (2cos2 OL—l)COSOL— 2sin? oL.coso =

=2cos° oc—COSoc—Z(l—cos2 OL)COSOL =2c0s® o —cosa —2cosa+2c0s® a = 4cos’ o —3cosa



tg3a =

sin3c. 3sino—4sin®c 3sin oc(sin2 oL+ COS> oc)—4sin3 o

\:cos® o

_ 3sinacos® o —sin’ a _ 3tga-tg’a
cos’ a—3cosasin®a  cosex0 1-3tg°ol

o PR
cos® a.—3cosasin? o' ¢
ctg3a = _ > — =
3siInoCcos” o —SIN“ o sinaz0

_ctg’a—3ctgo  3ctga—ctg®a
3ctg’a—1 1-3ctg°a

cos3o.  4cos® o—3cosa. 4cos® oc—3c050c(sin2 oL+ COS> oc)
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coso =1-2sin® = =3 . 1-cosa
° 2 2

o o 1+cosa
COSOL:2COSZE—1 = cos’ — = >
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sinoy/2 2 2sino/2-coso/2  sina
coso,/2 2¢0s” a,/2 1+cosa
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tg — =
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q? % _ sin“a/2  1-coso
2 cos’a/2 1+cosa
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cosa/2 2 2sina/2-cosa/2  sina
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